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2016 410 H 6 H

B & B iE
66 | i 5.3 iR (2) V(X)=90/10=3 V(X)=90/10=9
70 | X6.8 D 247H V(X)) + B(Xy) + -+ E(X,) V(X1) +V(X2) +- + V(Xn)
99 | 26 147H E(X) V(X)
100 | M 7.1 X =(X;+Xo+- -+ Xi0)/100 X =(X;+Xo+ -+ Xi100)/100
109 | ®»5 517H Xery XY
122 | Bl 9.2 HE R ke & FHIXM % kD &
131 | B 9.5 DX 0.07 x % 7.76 x % —[0.03, 2.72] | |0.07 x g 7.76 x % — [0.19, 20.73]
136 | k5 747H I VORPBEIE, DEVEAKE X | FEAKER X OEHEMEK Z
136 | k425 1147H N(0.5,0.5/(1 — 0.5)/100) N(0.5,0.5(1 — 0.5)/100)
138 | "5 317H 20 > Za 2 20 > Za
138 | 25 247H 20 < —Zq)2 20 < —Za
5|27 ?;;m ADER | matrixau, 2, 4 S Ml
167 | IR 11.2 iR Hy:o1=0s, Hi: o140 Ho:0? =02, H:o?# 0l
172 | E»5 5, 847H AR ZEE) RENZE)
172 | E» 5 817H HR 122 8 HEEZ2E)
172 | A 12.11 HEANZEE) Viy + FRHEZE) Vi TENZE) Viy + BERIZE) Vi
172 | ®»6 217H HEZEH) HENZE)
173 12.1 FENZEE), FRIAZ2E) FENZE), FEEZLE)
174 | BEND B S 247H | BBINZAE) RENZE)
197 | E»5 117H TRl HAZRL, SR B S 24 Tl 2 SR, SR IR H A
197 | F»5 147H Bo = 0.4719 Br = 0.4719
231 | 13K 3 RN — % 58
LT, 74 Me2f/3AICET3EE
37 | E»s217H FEvE A 72 SR
83 | X6.19 X+Y ~x*(m+n) X +Y ~x*(m+n)




FHAD o $3.010 £.005 DF| % LATFIZETIE

.010 .005

1 6.635 7.879
2 9.210 10.597
3 11.345 12.838
4 13.277 14.860
5 15.086 16.750
6 16.812 18.548
7 18.475 20.278
8 20.090 21.955
9 21.666 23.589
10 23.209 25.188
11 24.725 26.757
12 26.217 28.300
13 27.688 29.819
14 29.141 31.319
15 30.578 32.801
16 32.000 34.267
17 33.409 35.718
18 34.805 37.156
19 36.191 38.582
20 37.566 39.997
21 38.932 41.401
22 40.289 42.796
23 41.638 44.181
24 42.980 45.559
25 44.314 46.928
26 45.642 48.290
27 46.963 49.645
28 48.278 50.993
29 49.588 52.336
30 50.892 53.672
31 52.191 55.003
32 53.486 56.328
33 54.776 57.648
34 56.061 58.964
35 57.342 60.275
36 58.619 61.581
37 59.893 62.883
38 61.162 64.181
39 62.428 65.476
40 63.691 66.766
50 76.154 79.490
60 88.379 91.952
70 | 100.425 104.215
80 | 112.329 116.321
90 | 124.116  128.299
100 | 135.807 140.169
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